
Multiply by 10⁻² (A)Find each product.
9.441 × 10⁻² = 1.6 × 10⁻² =
0.49 × 10⁻² = 3.522 × 10⁻² =
0.7568 × 10⁻² = 9.8914 × 10⁻² =
8.397 × 10⁻² = 6.5661 × 10⁻² =
2.3 × 10⁻² = 4.3 × 10⁻² =
1.034 × 10⁻² = 2.5162 × 10⁻² =
9.6 × 10⁻² = 2.7049 × 10⁻² =
1.602 × 10⁻² = 4.029 × 10⁻² =
3.9 × 10⁻² = 1.3 × 10⁻² =
6.735 × 10⁻² = 3.9 × 10⁻² =
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Multiply by 10⁻² (A) AnswersFind each product.
9.441 × 10⁻² = 0.09441 1.6 × 10⁻² = 0.016
0.49 × 10⁻² = 0.0049 3.522 × 10⁻² = 0.03522
0.7568 × 10⁻² = 0.007568 9.8914 × 10⁻² = 0.098914
8.397 × 10⁻² = 0.08397 6.5661 × 10⁻² = 0.065661
2.3 × 10⁻² = 0.023 4.3 × 10⁻² = 0.043
1.034 × 10⁻² = 0.01034 2.5162 × 10⁻² = 0.025162
9.6 × 10⁻² = 0.096 2.7049 × 10⁻² = 0.027049
1.602 × 10⁻² = 0.01602 4.029 × 10⁻² = 0.04029
3.9 × 10⁻² = 0.039 1.3 × 10⁻² = 0.013
6.735 × 10⁻² = 0.06735 3.9 × 10⁻² = 0.039
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Multiply by 10⁻² (B)Find each product.
3.627 × 10⁻² = 0.5 × 10⁻² =
4.734 × 10⁻² = 3.27 × 10⁻² =
8.68 × 10⁻² = 2.932 × 10⁻² =
4.31 × 10⁻² = 5.179 × 10⁻² =
0.7 × 10⁻² = 3.7 × 10⁻² =
5.4 × 10⁻² = 9.5263 × 10⁻² =
6.5 × 10⁻² = 1.5062 × 10⁻² =
8.6458 × 10⁻² = 1.812 × 10⁻² =
4.73 × 10⁻² = 4.8 × 10⁻² =
4.39 × 10⁻² = 6.29 × 10⁻² =
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Multiply by 10⁻² (B) AnswersFind each product.
3.627 × 10⁻² = 0.03627 0.5 × 10⁻² = 0.005
4.734 × 10⁻² = 0.04734 3.27 × 10⁻² = 0.0327
8.68 × 10⁻² = 0.0868 2.932 × 10⁻² = 0.02932
4.31 × 10⁻² = 0.0431 5.179 × 10⁻² = 0.05179
0.7 × 10⁻² = 0.007 3.7 × 10⁻² = 0.037
5.4 × 10⁻² = 0.054 9.5263 × 10⁻² = 0.095263
6.5 × 10⁻² = 0.065 1.5062 × 10⁻² = 0.015062
8.6458 × 10⁻² = 0.086458 1.812 × 10⁻² = 0.01812
4.73 × 10⁻² = 0.0473 4.8 × 10⁻² = 0.048
4.39 × 10⁻² = 0.0439 6.29 × 10⁻² = 0.0629
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Multiply by 10⁻² (C)Find each product.
0.7 × 10⁻² = 7.4604 × 10⁻² =
0.441 × 10⁻² = 5.7974 × 10⁻² =
8.12 × 10⁻² = 7.8 × 10⁻² =
3.788 × 10⁻² = 7.178 × 10⁻² =
7.9 × 10⁻² = 1.5 × 10⁻² =
1.657 × 10⁻² = 4.92 × 10⁻² =
0.8 × 10⁻² = 8.8711 × 10⁻² =
0.5 × 10⁻² = 9.849 × 10⁻² =
3.51 × 10⁻² = 7.008 × 10⁻² =
6.4506 × 10⁻² = 6.33 × 10⁻² =
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Multiply by 10⁻² (C) AnswersFind each product.
0.7 × 10⁻² = 0.007 7.4604 × 10⁻² = 0.074604
0.441 × 10⁻² = 0.00441 5.7974 × 10⁻² = 0.057974
8.12 × 10⁻² = 0.0812 7.8 × 10⁻² = 0.078
3.788 × 10⁻² = 0.03788 7.178 × 10⁻² = 0.07178
7.9 × 10⁻² = 0.079 1.5 × 10⁻² = 0.015
1.657 × 10⁻² = 0.01657 4.92 × 10⁻² = 0.0492
0.8 × 10⁻² = 0.008 8.8711 × 10⁻² = 0.088711
0.5 × 10⁻² = 0.005 9.849 × 10⁻² = 0.09849
3.51 × 10⁻² = 0.0351 7.008 × 10⁻² = 0.07008
6.4506 × 10⁻² = 0.064506 6.33 × 10⁻² = 0.0633
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Multiply by 10⁻² (D)Find each product.
5.8 × 10⁻² = 5.0255 × 10⁻² =
5.27 × 10⁻² = 9.1373 × 10⁻² =
8.87 × 10⁻² = 8.529 × 10⁻² =
7.7858 × 10⁻² = 3.16 × 10⁻² =
7.4394 × 10⁻² = 1.4318 × 10⁻² =
4.42 × 10⁻² = 8.244 × 10⁻² =
2.7 × 10⁻² = 9.4034 × 10⁻² =
9.67 × 10⁻² = 6.326 × 10⁻² =
6.1688 × 10⁻² = 6.6894 × 10⁻² =
0.63 × 10⁻² = 6.0867 × 10⁻² =
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Multiply by 10⁻² (D) AnswersFind each product.
5.8 × 10⁻² = 0.058 5.0255 × 10⁻² = 0.050255
5.27 × 10⁻² = 0.0527 9.1373 × 10⁻² = 0.091373
8.87 × 10⁻² = 0.0887 8.529 × 10⁻² = 0.08529
7.7858 × 10⁻² = 0.077858 3.16 × 10⁻² = 0.0316
7.4394 × 10⁻² = 0.074394 1.4318 × 10⁻² = 0.014318
4.42 × 10⁻² = 0.0442 8.244 × 10⁻² = 0.08244
2.7 × 10⁻² = 0.027 9.4034 × 10⁻² = 0.094034
9.67 × 10⁻² = 0.0967 6.326 × 10⁻² = 0.06326
6.1688 × 10⁻² = 0.061688 6.6894 × 10⁻² = 0.066894
0.63 × 10⁻² = 0.0063 6.0867 × 10⁻² = 0.060867
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Multiply by 10⁻² (E)Find each product.
7.8352 × 10⁻² = 6.5 × 10⁻² =
9 × 10⁻² = 6.4 × 10⁻² =
2.7517 × 10⁻² = 6.7 × 10⁻² =
4.9725 × 10⁻² = 1.757 × 10⁻² =
9.65 × 10⁻² = 1.11 × 10⁻² =
3.075 × 10⁻² = 2.7 × 10⁻² =
5.141 × 10⁻² = 2.744 × 10⁻² =
7.765 × 10⁻² = 8.11 × 10⁻² =
0.2 × 10⁻² = 6.9213 × 10⁻² =
5.6 × 10⁻² = 9.45 × 10⁻² =
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Multiply by 10⁻² (E) AnswersFind each product.
7.8352 × 10⁻² = 0.078352 6.5 × 10⁻² = 0.065
9 × 10⁻² = 0.09 6.4 × 10⁻² = 0.064
2.7517 × 10⁻² = 0.027517 6.7 × 10⁻² = 0.067
4.9725 × 10⁻² = 0.049725 1.757 × 10⁻² = 0.01757
9.65 × 10⁻² = 0.0965 1.11 × 10⁻² = 0.0111
3.075 × 10⁻² = 0.03075 2.7 × 10⁻² = 0.027
5.141 × 10⁻² = 0.05141 2.744 × 10⁻² = 0.02744
7.765 × 10⁻² = 0.07765 8.11 × 10⁻² = 0.0811
0.2 × 10⁻² = 0.002 6.9213 × 10⁻² = 0.069213
5.6 × 10⁻² = 0.056 9.45 × 10⁻² = 0.0945
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Multiply by 10⁻² (F)Find each product.
2.46 × 10⁻² = 6.25 × 10⁻² =
7.965 × 10⁻² = 0.51 × 10⁻² =
2.88 × 10⁻² = 7.132 × 10⁻² =
8.6 × 10⁻² = 4.862 × 10⁻² =
5.512 × 10⁻² = 1.288 × 10⁻² =
6.216 × 10⁻² = 4.61 × 10⁻² =
6.7583 × 10⁻² = 1.72 × 10⁻² =
0.702 × 10⁻² = 6.7985 × 10⁻² =
9.91 × 10⁻² = 7.6 × 10⁻² =
5.5152 × 10⁻² = 4.3 × 10⁻² =
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Multiply by 10⁻² (F) AnswersFind each product.
2.46 × 10⁻² = 0.0246 6.25 × 10⁻² = 0.0625
7.965 × 10⁻² = 0.07965 0.51 × 10⁻² = 0.0051
2.88 × 10⁻² = 0.0288 7.132 × 10⁻² = 0.07132
8.6 × 10⁻² = 0.086 4.862 × 10⁻² = 0.04862
5.512 × 10⁻² = 0.05512 1.288 × 10⁻² = 0.01288
6.216 × 10⁻² = 0.06216 4.61 × 10⁻² = 0.0461
6.7583 × 10⁻² = 0.067583 1.72 × 10⁻² = 0.0172
0.702 × 10⁻² = 0.00702 6.7985 × 10⁻² = 0.067985
9.91 × 10⁻² = 0.0991 7.6 × 10⁻² = 0.076
5.5152 × 10⁻² = 0.055152 4.3 × 10⁻² = 0.043
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Multiply by 10⁻² (G)Find each product.
4.495 × 10⁻² = 7.832 × 10⁻² =
1.839 × 10⁻² = 7.1681 × 10⁻² =
6.866 × 10⁻² = 9.52 × 10⁻² =
8.5 × 10⁻² = 1 × 10⁻² =
1.9 × 10⁻² = 0.2049 × 10⁻² =
3.3212 × 10⁻² = 5.59 × 10⁻² =
5.531 × 10⁻² = 1.7 × 10⁻² =
5.4109 × 10⁻² = 3.7 × 10⁻² =
1.4 × 10⁻² = 5.8 × 10⁻² =
2.7 × 10⁻² = 6.19 × 10⁻² =
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Multiply by 10⁻² (G) AnswersFind each product.
4.495 × 10⁻² = 0.04495 7.832 × 10⁻² = 0.07832
1.839 × 10⁻² = 0.01839 7.1681 × 10⁻² = 0.071681
6.866 × 10⁻² = 0.06866 9.52 × 10⁻² = 0.0952
8.5 × 10⁻² = 0.085 1 × 10⁻² = 0.01
1.9 × 10⁻² = 0.019 0.2049 × 10⁻² = 0.002049
3.3212 × 10⁻² = 0.033212 5.59 × 10⁻² = 0.0559
5.531 × 10⁻² = 0.05531 1.7 × 10⁻² = 0.017
5.4109 × 10⁻² = 0.054109 3.7 × 10⁻² = 0.037
1.4 × 10⁻² = 0.014 5.8 × 10⁻² = 0.058
2.7 × 10⁻² = 0.027 6.19 × 10⁻² = 0.0619
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Multiply by 10⁻² (H)Find each product.
3.0501 × 10⁻² = 8.6605 × 10⁻² =
2.5417 × 10⁻² = 8.13 × 10⁻² =
3.4558 × 10⁻² = 0.8356 × 10⁻² =
8.071 × 10⁻² = 9.4 × 10⁻² =
4.1 × 10⁻² = 1 × 10⁻² =
6.5 × 10⁻² = 2.55 × 10⁻² =
4.0925 × 10⁻² = 2.018 × 10⁻² =
3.7982 × 10⁻² = 0.4263 × 10⁻² =
5.54 × 10⁻² = 4.74 × 10⁻² =
6.95 × 10⁻² = 2.2 × 10⁻² =
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Multiply by 10⁻² (H) AnswersFind each product.
3.0501 × 10⁻² = 0.030501 8.6605 × 10⁻² = 0.086605
2.5417 × 10⁻² = 0.025417 8.13 × 10⁻² = 0.0813
3.4558 × 10⁻² = 0.034558 0.8356 × 10⁻² = 0.008356
8.071 × 10⁻² = 0.08071 9.4 × 10⁻² = 0.094
4.1 × 10⁻² = 0.041 1 × 10⁻² = 0.01
6.5 × 10⁻² = 0.065 2.55 × 10⁻² = 0.0255
4.0925 × 10⁻² = 0.040925 2.018 × 10⁻² = 0.02018
3.7982 × 10⁻² = 0.037982 0.4263 × 10⁻² = 0.004263
5.54 × 10⁻² = 0.0554 4.74 × 10⁻² = 0.0474
6.95 × 10⁻² = 0.0695 2.2 × 10⁻² = 0.022
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Multiply by 10⁻² (I)Find each product.
2.27 × 10⁻² = 2.1847 × 10⁻² =
8.37 × 10⁻² = 3.519 × 10⁻² =
6.5 × 10⁻² = 2.022 × 10⁻² =
0.0613 × 10⁻² = 8.072 × 10⁻² =
1.322 × 10⁻² = 9.1009 × 10⁻² =
9.7591 × 10⁻² = 5.1 × 10⁻² =
7.83 × 10⁻² = 6.56 × 10⁻² =
2.5 × 10⁻² = 1.5926 × 10⁻² =
7.3 × 10⁻² = 4.7718 × 10⁻² =
3.84 × 10⁻² = 5.95 × 10⁻² =
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Multiply by 10⁻² (I) AnswersFind each product.
2.27 × 10⁻² = 0.0227 2.1847 × 10⁻² = 0.021847
8.37 × 10⁻² = 0.0837 3.519 × 10⁻² = 0.03519
6.5 × 10⁻² = 0.065 2.022 × 10⁻² = 0.02022
0.0613 × 10⁻² = 0.000613 8.072 × 10⁻² = 0.08072
1.322 × 10⁻² = 0.01322 9.1009 × 10⁻² = 0.091009
9.7591 × 10⁻² = 0.097591 5.1 × 10⁻² = 0.051
7.83 × 10⁻² = 0.0783 6.56 × 10⁻² = 0.0656
2.5 × 10⁻² = 0.025 1.5926 × 10⁻² = 0.015926
7.3 × 10⁻² = 0.073 4.7718 × 10⁻² = 0.047718
3.84 × 10⁻² = 0.0384 5.95 × 10⁻² = 0.0595
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Multiply by 10⁻² (J)Find each product.
3.509 × 10⁻² = 9.8 × 10⁻² =
8.179 × 10⁻² = 5.766 × 10⁻² =
2.1524 × 10⁻² = 8.812 × 10⁻² =
6.4 × 10⁻² = 8.3523 × 10⁻² =
3.8063 × 10⁻² = 8.524 × 10⁻² =
8.4 × 10⁻² = 8.17 × 10⁻² =
7.83 × 10⁻² = 5.94 × 10⁻² =
5.72 × 10⁻² = 3.2 × 10⁻² =
8.5 × 10⁻² = 7.112 × 10⁻² =
3.1 × 10⁻² = 9.2 × 10⁻² =
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Multiply by 10⁻² (J) AnswersFind each product.
3.509 × 10⁻² = 0.03509 9.8 × 10⁻² = 0.098
8.179 × 10⁻² = 0.08179 5.766 × 10⁻² = 0.05766
2.1524 × 10⁻² = 0.021524 8.812 × 10⁻² = 0.08812
6.4 × 10⁻² = 0.064 8.3523 × 10⁻² = 0.083523
3.8063 × 10⁻² = 0.038063 8.524 × 10⁻² = 0.08524
8.4 × 10⁻² = 0.084 8.17 × 10⁻² = 0.0817
7.83 × 10⁻² = 0.0783 5.94 × 10⁻² = 0.0594
5.72 × 10⁻² = 0.0572 3.2 × 10⁻² = 0.032
8.5 × 10⁻² = 0.085 7.112 × 10⁻² = 0.07112
3.1 × 10⁻² = 0.031 9.2 × 10⁻² = 0.092
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